Far East Journal of Applied Mathematics

# THE VALUE DISTRIBUTION OF ALGEBROID SOLUTION OF A TYPE OF COMPLEX HIGHERORDER ALGEBRAIC DIFFERENTIAL EQUATIONS 

Liu Manli and Gao Lingyun<br>Department of Mathematics<br>Jinan University<br>Guangzhou, 510632, P. R. China<br>e-mail: 572996979@qq.com


#### Abstract

In this paper, we mainly use Nevanlinna theory of the value distribution of meromorphic functions or algebroid functions and the property $(w-a)^{(n)}=w^{(n)}$ of higher-order derivative of functions to investigate the problem of the value distribution of algebroid solutions of some algebraic differential equations. A result of the deficient values of a type of higher-order algebraic differential equations is obtained on the condition that the equations exist admissible algebroid solutions and meet some proper conditions, and the result of paper [3] is generalized.


Received: November 20, 2015; Accepted: January 5, 2016
2010 Mathematics Subject Classification: 30D05, 39A10, 30D35.
Keywords and phrases: algebraic differential equations, admissible algebroid solutions, value distribution.

Project supported by the Natural Science Foundation of China (No. 10471065) and the Natural Science Foundation of Guangdong Province (No. 04010407).

Communicated by K. K. Azad

## 1. Introduction

We assume that the readers are familiar with the standard notions of the Nevanlinna theory of the value distribution of meromorphic functions, such as the characteristic function $T(r, f)$, proximity function $m(r, f)$, counting function $N(r, f)$, the first and second main theorems (see, e.g., [1-3]).

An analytic function $w(z)$ with $v$ branches is an algebroid function if the function $w(z)$ satisfies an equation of the form

$$
\psi(z, w)=A_{v}(z) w^{v}+A_{v-1}(z) w^{v-1}+\cdots+A_{0}(z)=0
$$

where $A_{j}(z)(j=0,1, \ldots, v)$ are regular functions in $z$ with no common zeros and $A_{v}(z) \neq 0$. Especially, when $v=1, w(z)$ is a meromorphic function; when $A_{j}(z)(j=0,1, \ldots, v)$ are polynomials, $w(z)$ is an algebraic function. In general, we consider the case that at least one of $A_{j}(z)$ is transcendental function.

Recently, many authors studied a large number of algebraic differential equations, and they have obtained some good results (see, e.g., [3-10]). In paper [3], He and Xiao investigated the value distribution of admissible algebroid solutions of a type of higher-order algebraic differential equation of the form

$$
\begin{equation*}
\Omega(z, w)=R(z, w), \tag{1}
\end{equation*}
$$

where $\Omega(z, w)=\sum_{(i)} a_{(i)} w^{i_{0}}\left(w^{\prime}\right)^{i_{1}} \cdots\left(w^{(n)}\right)^{i_{n}} \quad$ is a differential polynomial with meromorphic coefficients. (i) is a finite set of multi-indices, $i=$ $\left(i_{0}, i_{1}, \ldots, i_{n}\right) . R(z, w)=\frac{\sum_{i=0}^{p} a_{i}(z) w^{i}}{\sum_{j=0}^{q} b_{j}(z) w^{j}}$ is an irreducible rational function in $w(z)$ with the meromorphic coefficients $a_{i}(z)$ and $b_{j}(z)$.

Also, they obtained the following result:
Theorem A [3]. Let $w(z)$ be an admissible algebroid solution of (1) with $v$ branches and $p>q+\lambda$. Then $\delta(w, \infty)=0$ and $\Theta(w, \infty) \leq 1-$ $\frac{p-(q+\lambda)}{\mu \nu}$.

For any $\alpha \in C$, there exists an $\alpha$ satisfying $P(z, \alpha) \neq 0$,
if $\alpha \neq 0$, then we have $\delta(w, \alpha)=0$ and

$$
\begin{gathered}
\qquad \Theta(w, \alpha) \leq 1-\frac{\min \left\{i_{1}+i_{2}+\cdots+i_{n}\right\}}{\mu \nu} ; \\
\text { if } \alpha=0 \text {, then we have } \Theta(w, 0) \leq 1-\frac{\min \left\{i_{0}+i_{1}+\cdots+i_{n}\right\}}{\mu \nu} .
\end{gathered}
$$

For differential polynomial $\Omega(z, w)=\sum_{(i)} a_{(i)} w^{i_{0}}\left(w^{\prime}\right)^{i_{1}} \cdots\left(w^{(n)}\right)^{i_{n}}$, we denote

$$
\lambda=\max \left\{\sum_{\alpha=0}^{n} i_{\alpha}\right\}, \mu=\max \left\{\sum_{\alpha=0}^{n} \alpha i_{\alpha}\right\}, \Delta=\max \left\{\sum_{\alpha=0}^{n}(\alpha+1) i_{\alpha}\right\} .
$$

In addition, we have

$$
\begin{aligned}
& \delta(w, a)={\underset{r i m}{r \rightarrow \infty}}^{\frac{m\left(r, \frac{1}{w-a}\right)}{T(r, w)}, \quad \Theta(w, a)=1-\varlimsup_{r \rightarrow \infty} \frac{\bar{N}(r, a)}{T(r, w)},} \\
& S(r)=\sum_{(i)} T\left(r, a_{(i)}\right)+\sum_{k=0}^{p} T\left(r, a_{k}\right)+\sum_{j=0}^{q} T\left(r, b_{j}\right) .
\end{aligned}
$$

Definition. Let $w(z)$ be an algebroid solution of differential equation (1) with $v$ branches. If $w(z)$ satisfies the following condition: $S(r)=o\{T(r, w)\}$, outside a possible exception set $E$ with a finite linear measure, we say that $w(z)$ is an admissible algebroid solution of (1).

In this paper, with the aid of $(w-a)^{(n)}=w^{(n)}$, we will mainly investigate the problem of the value distribution of algebroid solution on higher-order nonlinear differential equation of the following form:

$$
\begin{equation*}
\frac{\Omega(z, w)}{(w-a)^{s}}=R(z, w), \tag{2}
\end{equation*}
$$

where $\Omega(z, w), R(z, w)$ are same as what we have denoted in (1).
We obtain the following result:
Theorem 1. Let $w(z)$ be an admissible algebroid solution of (2) with $v$ branches, $p+s>q+\lambda$ and $s<\min \left\{i_{1}+i_{2}+\cdots+i_{n}\right\}$. Then
(a) $\delta(w, \infty)=0$ and $\Theta(w, \infty) \leq 1-\frac{p+s-(q+\lambda)}{\mu \nu}$.
(b) For any $\alpha \in C$, there exists an $\alpha$ satisfying $P(z, \alpha) \neq 0$. Then $\delta(w, \alpha)=0$,
if $\alpha=a, \alpha \neq 0$, then we have $\Theta(w, \alpha) \leq 1-\frac{\min \left\{i_{1}+i_{2}+\cdots+i_{n}\right\}-s}{\mu \nu}$;
if $\alpha=a, \alpha=0$, then we have $\Theta(w, 0) \leq 1-\frac{\min \left\{i_{0}+i_{1}+\cdots+i_{n}\right\}-s}{\mu \nu}$;
if $\alpha \neq a, \alpha \neq 0$, then we have $\Theta(w, \alpha) \leq 1-\frac{\min \left\{i_{1}+i_{2}+\cdots+i_{n}\right\}-2 s}{\mu \nu}$;
if $\alpha \neq a, \alpha=0$, then we have $\Theta(w, 0) \leq 1-\frac{\min \left\{i_{0}+i_{1}+\cdots+i_{n}\right\}-2 s}{\mu v}$.
Note. (1) Compared with Theorem A, equation (2) we investigate is more general.
(2) As $s=0$, we can find Theorem A is a special case of Theorem 1.

## 2. Several Lemmas

In order to prove our result, we need the following lemmas.
Lemma 1 [4]. Let $w(z)$ be an admissible algebroid solution and $P(z, w)$

$$
\begin{aligned}
& =\sum_{i=0}^{p} a_{i}(z) w^{i}, Q(z, w)=\sum_{j=0}^{q} b_{j}(z) w^{j} . \text { Then } \\
& m(r, P(z, w)) \geq p m(r, w)-S(r, w), \\
& m(r, Q(z, w)) \leq q m(r, w)+S(r, w) .
\end{aligned}
$$

Lemma 2 [3]. Suppose that $P(z, w)=\sum_{i=0}^{p} a_{i}(z) w^{i}, w(z)$ is an algebroid function solution. Then

$$
T(r, P(z, w))=p T(r, w)+O\left\{\sum_{i=0}^{p} T\left(r, a_{k}\right)\right\} .
$$

Lemma 3. Suppose that $w(z)$ is an algebroid function with $v$ branches. Then $m\left(r, \frac{w^{(\alpha)}}{w-a}\right)=S(r, w)$.

Proof. The procedure is similar to the proof of $m\left(r, \frac{w^{(\alpha)}}{w}\right)=S(r, w)$ in paper [3].

## 3. The Proof of Theorem 1

Proof. We first prove (a). Let $w(z)$ be an admissible algebroid solution of (2) with $v$ branches. We rewrite equation (2) as follows:

$$
\begin{equation*}
\frac{\Omega(z, w)}{(w-a)^{s}} Q(z, w)=P(z, w) . \tag{3}
\end{equation*}
$$

By Lemma 1, we get

$$
\begin{align*}
& m(r, P(z, w)) \geq p m(r, w)-s(r, w)  \tag{4}\\
& m(r, Q(z, w)) \leq q m(r, w)+s(r, w) \tag{5}
\end{align*}
$$

By applying the property of the positive logarithm to $(w-a)$, we have

$$
\log ^{+}|w-a| \leq \log ^{+}|w|+\log ^{+}|a|+\log 2 .
$$

Hence,

$$
\begin{equation*}
m(r, w-a) \leq m(r, w)+O(1) \tag{6}
\end{equation*}
$$

Using the fact that $\frac{w^{(n)}}{w-a}=\frac{(w-a)^{(n)}}{w-a}$, we have

$$
\begin{align*}
\frac{\Omega(z, w)}{(w-a)^{s}} & =\frac{\sum_{(i)} a_{(i)} w^{i_{0}}\left(w^{\prime}\right)^{i_{1}} \cdots\left(w^{(n)}\right)^{i_{n}}}{(w-a)^{s}} \\
& =\sum_{(i)} a_{(i)} w^{w_{0}}\left(\frac{(w-a)^{\prime}}{w-a}\right)^{i_{1}} \cdots\left(\frac{(w-a)^{(n)}}{w-a}\right)^{i_{n}}(w-a)^{\left(i_{1}+i_{2}+\cdots+i_{n}\right)-s} . \tag{7}
\end{align*}
$$

Combining (7) with Lemma 3 and (6), we get

$$
\begin{equation*}
m\left(r, \frac{\Omega(z, w)}{(w-a)^{s}}\right) \leq(\lambda-s) m(r, w)+S(r, w), \tag{8}
\end{equation*}
$$

it follows from (3), (4), (5) and (8) that

$$
\begin{equation*}
(p+s-\lambda-q) m(r, w) \leq S(r, w) . \tag{9}
\end{equation*}
$$

Then, according to the definition of admissible solutions, both sides of (9) are divided by $T(r, w)$ and take the lower limit, this yields

$$
(p+s-\lambda-q) \delta(w, \infty)=0 .
$$

Noting that $p+s-\lambda-q>0$, we have

$$
\delta(w, \infty)=0 .
$$

We proceed to rewrite equation (2) as follows:

$$
\Omega(z, w) Q(z, w)=(w-a)^{s} P(z, w)=P_{1}(z), \text { where } \operatorname{deg}_{w} P_{1}(z)=p+s
$$

Thus, we have

$$
\begin{aligned}
& T\left(r, P(z, w)(w-a)^{s} \frac{1}{(w-a)^{s}}\right) \\
\leq & T\left(r, P(z, w)(w-a)^{s}\right)+T\left(r, \frac{1}{(w-a)^{s}}\right) \\
\leq & T\left(r, P(z, w)(w-a)^{s}\right)+T\left(r,(w-a)^{s}\right)+O(1)
\end{aligned}
$$

i.e.,

$$
\begin{equation*}
T\left(r, P(z, w)(w-a)^{s}\right) \geq T(r, P(z, w))-s T(r, w)+O(1) . \tag{10}
\end{equation*}
$$

Since

$$
\begin{equation*}
T(r, \Omega(z, w) Q(z, w)) \leq(\lambda+q) T(r, w)+\mu v \bar{N}(r, w)+S(r, w), \tag{11}
\end{equation*}
$$

it follows from (10) and (11) that

$$
T(r, P(z, w))-s T(r, w)+O(1) \leq(\lambda+q) T(r, w)+\mu \nu \bar{N}(r, w)+S(r, w) .
$$

By Lemma 2, we get

$$
\begin{equation*}
[p-(q+\lambda+s)] T(r, w) \leq \mu v \bar{N}(r, w)+S(r, w) . \tag{12}
\end{equation*}
$$

According to the definition of admissible solutions, both sides of (12) are divided by $T(r, w)$ and take the upper limit, we obtain

$$
\Theta(w, \infty) \leq 1-\frac{p-(q+\lambda+s)}{\mu v} .
$$

To prove (b) in Theorem 1, set

$$
w=\frac{1}{u}+\alpha .
$$

Then

$$
\begin{equation*}
w-a=\frac{1}{u}+\alpha-a=\frac{1+(\alpha-a) u}{u} . \tag{13}
\end{equation*}
$$

Substituting (13) into the right hand side of equation (2), we have

$$
u^{(q-p)} \frac{P(z, \alpha) u^{p}+\cdots+A_{p}(z)}{Q(z, \alpha) u^{q}+\cdots+B_{q}(z)}=\frac{P(z, w)}{Q(z, w)} .
$$

Since $w^{(j)}=\frac{P_{j}\left(u, u^{\prime}, \ldots, u^{(j)}\right)}{u^{j+1}}(j=1,2, \ldots, n)$, where $P_{j}\left(u, u^{\prime}, \ldots, u^{(j)}\right)$ is a homogeneous in $u$ of degree $j$, we obtain the general term of $\frac{\Omega(z, w)}{(w-a)^{s}}$ as follows:

$$
\begin{equation*}
\frac{a_{(i)}(z) w^{i_{0}}\left(w^{\prime}\right)^{i_{1}} \cdots\left(w^{(n)}\right)^{i_{n}}}{(w-a)^{s}}=\frac{a_{(i)}(z)\left(\frac{\alpha u+1}{u}\right)^{i_{0}} \cdots\left(\frac{P_{n}\left(u, u^{\prime}, \ldots, u^{(n)}\right)}{u^{n+1}}\right)^{i_{n}}}{\left(\frac{u(\alpha-a)+1}{u}\right)^{s}} . \tag{14}
\end{equation*}
$$

Next, we discuss (14) with the following cases:
Case (1) Suppose first that $\alpha=a$.
If $\alpha \neq 0$, then we have

$$
\begin{aligned}
& \frac{a_{(i)}(z) w^{i_{0}}\left(w^{\prime}\right)^{i_{1}} \cdots\left(w^{(n)}\right)^{i_{n}}}{(w-a)^{s}} \\
= & a_{(i)}(z)\left(\frac{\alpha u+1}{u}\right)^{i_{0}} \cdots\left(\frac{P_{j}\left(u, u^{\prime}, \ldots, u^{(n)}\right)}{u^{n+1}}\right)^{i_{n}} u^{s}
\end{aligned}
$$

$$
=P_{(j)}\left(z ; u, u^{\prime}, \ldots, u^{(n)}\right) u^{-\left(i_{0}+2 i_{1}+\cdots+(n+1) i_{n}\right)+s},
$$

it shows at once that the left hand side of equation (2) becomes $\Omega_{1}\left(z ; u, u^{\prime}, \ldots, u^{(n)}\right) u^{-\Delta+s}$.

Again, for differential polynomial $\Omega(z, w)$, we have

$$
\Delta=\max \left\{\sum_{\alpha=0}^{n}(\alpha+1) i_{\alpha}\right\}, \quad \lambda=\max \left\{\sum_{\alpha=0}^{n} i_{\alpha}\right\},
$$

then

$$
0 \leq \min \left(\delta_{i}-\lambda_{i}\right) \leq \delta-\lambda .
$$

Since $\delta_{i}-\lambda_{i}=i_{1}+2 i_{2}+\cdots+n i_{n} \geq i_{1}+i_{2}+\cdots+i_{n}$,

$$
\delta-\lambda=l \geq \min \left\{i_{1}+i_{2}+\cdots+i_{n}\right\}, \text { when } \alpha \neq 0 .
$$

If $\alpha=0$, then we have

$$
\begin{aligned}
\frac{a_{(i)}(z) w^{i_{0}}\left(w^{\prime}\right)^{i_{1}} \cdots\left(w^{(n)}\right)^{i_{n}}}{(w-a)^{s}} & =a_{(i)}(z)\left(\frac{1}{u}\right)^{i_{0}} \cdots\left(\frac{P_{n}\left(u, u^{\prime}, \ldots, u^{(n)}\right)}{u^{n+1}}\right)^{i_{n}} u^{s} \\
& =H_{(i)}\left(z ; u, u^{\prime}, \ldots, u^{(n)}\right) u^{-\left(i_{0}+2 i_{1}+\cdots+(n+1) i_{n}\right)+s} .
\end{aligned}
$$

Then we get the left hand side of equation (2) as following form:

$$
\Omega_{2}\left(z ; u, u^{\prime}, \ldots, u^{(n)}\right) u^{-\Delta-i_{0}+s} .
$$

By a similar deduction, when $\alpha=0$, we get

$$
\delta-\lambda=l \geq \min \left\{i_{0}+i_{1}+\cdots+i_{n}\right\} .
$$

Combining with the argument above, we find that equation (2) becomes

$$
\begin{equation*}
\sum_{(i)} b_{(i)}(z) u^{i_{0}}\left(u^{\prime}\right)^{i_{1}} \cdots\left(u^{(n)}\right)^{i_{n}}=\sum_{k=0}^{q+l+\lambda-s} \hat{a}_{k}(z) u^{k} / \sum_{j=0}^{q} \hat{b}_{j}(z) u^{j} \tag{15}
\end{equation*}
$$

where $\hat{a}_{q+\lambda+l-s}(z)=P(z, \alpha) \neq 0, l \geq \min \left\{i_{1}+i_{2}+\cdots+i_{n}\right\}$, as $\alpha \neq 0$ and $l \geq \min \left\{i_{0}+i_{1}+\cdots+i_{n}\right\}$, as $\alpha=0$.

Now, we note equation (15) as $\hat{\Omega}\left(z ; u, u^{\prime}, \ldots, u^{(n)}\right)=\frac{P_{1}(z, u)}{Q(z, u)}$.
Then we have

$$
m\left(r, P_{1}(z, u)\right)=m(r, Q(z, u)) \hat{\Omega}(z, u) \leq m(r, Q(z, u))+m(r, \hat{\Omega}(z, u))
$$

Using Lemma 1, we deduce that $p_{1} m(r, u) \leq(q+\lambda) m(r, u)+S(r, u)$.
Since $l>s$, we use again the definition of admissible solution, both sides of the equation are divided by $T(r, u)$ and take the lower limit, this gives

$$
\delta(u, \infty)=0
$$

Furthermore, we have

$$
T\left(r, P_{1}(z, w)\right)=T(r, Q(z, u) \hat{\Omega}(z, u)) \leq T(r, Q(z, u))+T(r, \hat{\Omega}(z, u))
$$

By Lemma 2, we get

$$
p_{1} T(r, u) \leq(p+\lambda) T(r, u)+\mu v \bar{N}(z, u)+S(z, u)
$$

Similarly, both sides of the equation are divided by $T(r, u)$ and take the upper limit, we obtain

$$
\begin{aligned}
& \Theta(w, \alpha)=\Theta(u, \infty) \leq 1-\frac{\min \left\{i_{1}+i_{2}+\cdots+i_{n}\right\}}{\mu \nu}, \text { when } \alpha=a \neq 0 \\
& \Theta(w, 0)=\Theta(u, \infty) \leq 1-\frac{\min \left\{i_{0}+i_{1}+\cdots+i_{n}\right\}}{\mu \nu}, \text { when } \alpha=a=0
\end{aligned}
$$

Case (2) Suppose $\alpha \neq a$, we have

$$
\frac{a_{(i)}(z) w^{i_{0}}\left(w^{\prime}\right)^{i_{1}} \cdots\left(w^{(n)}\right)^{i_{n}}}{(w-a)^{S}}=\frac{P_{(i)}\left(z ; u, u^{\prime}, \ldots, u^{(n)}\right) u^{-\left(i_{0}+\cdots+(n+1) i_{n}\right)+s}}{\left(u+(\alpha-a)^{-1}\right)^{S}} .
$$

So the left hand side of equation (2) becomes

$$
\frac{\widetilde{\Omega}\left(z ; u, u^{\prime}, \ldots, u^{(n)}\right)}{\left(u+(\alpha-a)^{-1}\right)^{s}} u^{-\Delta+s}
$$

Hence, we make a transformation of equation (2) as follows:

$$
\begin{equation*}
\sum_{(i)} \frac{c_{(i)}(z) u^{i_{0}}\left(u^{\prime}\right)^{i_{1}} \cdots\left(u^{(n)}\right)^{i_{n}}}{\left(u+(\alpha-a)^{-1}\right)^{s}}=\frac{\sum_{k=0}^{q+\lambda+l-s} c_{k}(z) u^{k}}{\sum_{j=0}^{q} d_{j}(z) u^{j}} \tag{16}
\end{equation*}
$$

where $c_{q+\lambda+l-s}(z)=P(z, \alpha) \neq 0, l \geq \min \left\{i_{1}+i_{2}+\cdots+i_{n}\right\}$, as $\alpha \neq 0$ and $l \geq \min \left\{i_{0}+i_{1}+\cdots+i_{n}\right\}$, as $\alpha=0$.

Applying (a) in Theorem 1 to (16), we get $\delta(w, \alpha)=\delta(u, \infty)=0$,

$$
\begin{aligned}
& \Theta(w, \alpha)=\Theta(u, \infty) \leq 1-\frac{\min \left\{i_{1}+i_{2}+\cdots+i_{n}\right\}-2 s}{\mu \nu}, \text { when } \alpha \neq 0, \\
& \Theta(w, 0)=\Theta(u, \infty) \leq 1-\frac{\min \left\{i_{0}+i_{1}+\cdots+i_{n}\right\}-2 s}{\mu \nu}, \text { when } \alpha=0 .
\end{aligned}
$$

In summary,
if $\alpha=a, \alpha \neq 0$, then $\Theta(w, \alpha) \leq 1-\frac{\min \left\{i_{1}+i_{2}+\cdots+i_{n}\right\}-s}{\mu \nu}$;
if $\alpha=a, \alpha=0$, then $\Theta(w, 0) \leq 1-\frac{\min \left\{i_{0}+i_{1}+\cdots+i_{n}\right\}-s}{\mu \nu}$;
if $\alpha \neq a, \alpha \neq 0$, then $\Theta(w, \alpha) \leq 1-\frac{\min \left\{i_{1}+i_{2}+\cdots+i_{n}\right\}-2 s}{\mu v}$;
if $\alpha \neq a, \alpha=0$, then $\Theta(w, 0) \leq 1-\frac{\min \left\{i_{0}+i_{1}+\cdots+i_{n}\right\}-2 s}{\mu \nu}$.
This is the proof of Theorem 1.

## References

[1] W. K. Hayman, Meromorphic Function, Clarendon Press, Oxford, 1964.
[2] H. X. Yi and C. C. Yang, Theory of the Uniqueness of Meromorphic Functions, Science Press, Beijing, 1995 (in Chinese).
[3] Yuzan He and Xiuzhi Xiao, Algebroid Functions and Ordinary Differential Equation, Science Press, Beijing, 1998 (in Chinese).
[4] Gao Lingyun, Some results on admissible algebroid solutions of complex differential equations, J. Systems Sci. Math. Sci. 21(2) (2001), 213-222.
[5] Chen Tewei, One class of ordinary differential equations which possess algebroid solutions in complex domain, Chinese Quart. J. Math. 6(4) (1991), 45-51.
[6] L. Y. Gao, Admissible meromorphic solutions of ordinary differential equations, Ann. of Math. (Series A) 20(2) (1999), 221-228.
[7] Wang Yue and Gao Lingyun, On algebroid solutions of two types of nonlinear differential equations in the complex plane, J. Systems Sci. Math. Sci. 33(2) (2013), 246-254.
[8] Gao Lingyun, Admissible meromorphic solutions of a type of higher-order algebraic differential equations, J. Math. Res. Exposition 23(3) (2003), 443-448.
[9] Gao Lingyun, On algebroid solutions of generalized complex differential equations, Chinese Quart. J. Math. 16(1) (2001), 20-25.
[10] He Yuzan and Xiao Xiuzhi, Meromorphic and algebroid solutions of higher-order algebraic differential equations, Sci. China Ser. A 26(10) (1983), 1034-1043.

